$N: \mathbb{R} \rightarrow \mathbb{N} = \{0, 1, 2, \dots, j \in \mathbb{N} \}$ if {NINGEFn

$$\begin{aligned} & \left( \mathcal{K}_{1}, \overline{f}_{1}, \overline{f} \right) \quad pr-b.spea. \quad (\mp_{n}) \quad f_{1}\mathcal{U}(\operatorname{radian}^{n}) \\ & \left( \mathcal{K}_{n}, \overline{f}_{1}, \overline{f} \right) \quad pr-b.spea. \quad (\mp_{n}) \quad f_{1}\mathcal{U}(\operatorname{radian}^{n}) \\ & \left( \mathcal{K}_{n}, \overline{f}_{n} \right) \quad f_{n} \\ & 1 \quad \text{Discrete time martingales} \quad & \left( + \sigma \left( - f_{n} \right) \right) \quad f_{n} \\ & 1 \quad \text{Discrete time martingales} \quad & \left( + \sigma \left( - f_{n} \right) \right) \quad f_{n} \\ & 1 \quad \text{Definition, properties} \\ & 1.1 \quad \text{Definition, properties} \\ & 1.2 \quad \text{Martingale convergence theorem} \quad & \left[ \mathcal{E} \left( \chi_{n+1}, f_{n} \right) = \chi_{n} \right] \\ & 3 \quad \text{Doob's decomposition and the martingale Borel-cancelli lemma} \\ & 1.4 \quad \text{Doob's maximal inequality} \\ & \text{Our first optional stopping theorem is the following.} \\ & \text{Theorem 1. Let} \left( \chi_{n}, h, e a submartingale and let N be a bounded stopping time, i.e.  $N \leq k \text{ a.s. for some } k \in \mathbb{N}$ . Theorem  $1 \quad E_{N} \leq E_{N} \leq E_{N} \leq E_{N} \\ & \text{Eff} \left( \chi_{n+1} \right) = \chi_{n-1} \quad & E_{N} \leq E_{N} \leq E_{N} \\ & \text{For the other direction, put  $K_{n-1} \cap (N < n) = I(N \leq n-1)$ . Then  $K_{n}$  is  $f_{n-1} \cap e_{N-1}$  is submartingale, thus  $E_{N-1} \in E_{N-1} \otimes E_{N-2} = E_{N-1} \\ & \text{For the other direction, put  $K_{n-1} \cap (N < n) = I(N \leq n-1)$ . Then  $K_{n}$  is  $f_{n-1} \cap f_{N} \in f_{n-1} \\ & \text{For the other direction, put  $K_{n-1} \cap (N < n) = I(N \leq n-1)$ . Then  $K_{n}$  is  $f_{n-1} \cap f_{N} \in f_{n-1} \\ & \text{For the other direction, put  $K_{n-1} \cap (N < n) = I(N \leq n-1)$ . Then  $K_{n}$  is  $f_{n-1} \cap f_{N} \in f_{n-1} \\ & \text{For } f_{N} = f_{N-1} \\ & \text{For } f_{N-1}$$$$$$$

01

, Т Г

Proof. The second inequality is obvious.  
Let 
$$N = \min\{\min\{k: X_k \ge x, k = 1, 2, ..., n\}, n\}$$
. Then  $N$  is a bounded/  
(stopping time. Since  $X_N \ge x$  on  $\{M_n \ge x\}$   
 $M = \sum_{\substack{k \le n \\ k \ge n}} \sum_{\substack{k \ge n \\ k \ge n} \sum_{\substack{k \ge n \\ k \ge n}} \sum_{\substack{k \ge n \\ k \ge n} \sum_{\substack{k \ge n \\ k \ge n}} \sum_{\substack{k \ge n \\ k \ge n}} \sum_{\substack{k \ge n \\ k \ge n} \sum_{\substack{k \ge n \\ k \ge n}} \sum_{\substack{k \ge n \\ k \ge n} \sum_{\substack{k \ge n \\ k \ge n}} \sum_{\substack{k \ge n \\ k \ge n} \sum_{\substack{k \ge n \\$ 

{lemma:max-ineq}

**Lemma 1.** Let X, Y be nonnegative random variables such that

$$\mathbf{P}(X \ge x) \le \frac{1}{x} \int_{\{X \ge x\}} Y \mathrm{d}\mathbf{P}, \quad x > 0.$$

Then for any p > 1

$$\mathbf{E}\!\!\left(\!X^p\!\right)\!\!\leq \left(\frac{p}{p-1}\right)^p \mathbf{E}\!\!\left(\!Y^p\!\right)\!\!$$

(-) Ø206's hax K:Mn Y=Xn.

*Proof.* Note the for a nonnegative random variable  $X_{-}$ 

where  $F(x) = \mathbf{P}(X \le x)$  is the distribution function of X. Indeed,

$$\mathbf{E}X^{p} = \int_{\Omega} X^{p} d\mathbf{P} = \int_{\Omega} \int_{0}^{\infty} \mathbf{I}(x < X(\omega)) px^{p-1} dx d\mathbf{P}(\omega)$$
$$= \int_{0}^{\infty} px^{p-1} [1 - F(x)] dx.$$
The result follows using Hölder's inequality as
$$\mathbf{I} = \sum_{n=1}^{\infty} P(X \setminus \mathbf{x}) = \mathbf{I} \cdot F(\mathbf{x})$$

The result follows using Hölder's inequality as

 $E \times P \leq \mathcal{P}_{1} \cdot (E \times P)^{\prime \prime} \cdot (E \times P)^{\prime \prime}$  $EXP)YZ_{P-1}(EYP)$  $E(X^{p}) \leq \left(\frac{2}{p-1}\right)^{t} \cdot E(Y^{p})$ 

**Theorem 3** ( $L^p$  maximal inequality). (i) Let  $(X_k)_{k=1}^n$  be a nonnegative submartingale and  $p \in (1, \infty)$ . Then

$$\mathbf{E}\max\{X_1^p,\ldots,X_n^p\} \le \left(\frac{p}{p-1}\right)^p \mathbf{E}X_n^p.$$

(ii) Let  $(X_k)_{k=1}^{\infty}$  be a nonnegative submartingale and  $p \in (1, \infty)$ . Then

$$\mathbf{E}\left(\sup_{n\in\mathbb{N}}X_{n}^{p}\right)\leq\left(\frac{p}{p-1}\right)^{p}\sup_{n\in\mathbb{N}}\mathbf{E}\left(X_{n}^{p}\right)$$

*Proof.* Statement (i) follows from Doob's maximal inequality and Lemma 1.

(ii) follows from (i) and the monotone convegence theorem as

## 1.5 Optional stopping theorem

Let  $(\Omega, \mathcal{F}, \mathbf{P})$  be a probability measure and  $(\mathcal{F}_n)_n$  a filtration on it. Recall that a random variable  $\tau : \Omega \to \mathbb{N}$  is *stopping time*, if  $\{\tau \leq n\} \in \mathcal{F}_n$  for each  $n \in \mathbb{N}$ .

We already used the following simple observation.

**Proposition 1.** The following are equivalent.

- (i)  $\tau$  is stopping time;
- (ii)  $\{\tau > n\} \in \mathcal{F}_n$  for each  $n \in \mathbb{N}$ ;
- (iii)  $\{\tau = n\} \in \mathcal{F}_n$  for each  $n \in \mathbb{N}$ .

Exercise 2. Prove this result.

Let  $\tau$  be a stopping time. The  $\sigma$ -algebra of the events prior to  $\tau$ , or short pre- $\tau$ -sigma algebra is defined as

$$\mathcal{F}_{\tau} = \{ A \in \mathcal{F} : A \cap \{ \tau \le n \} \in \mathcal{F}_n, \ n = 1, 2, \ldots \}.$$
 (1) {eq:pretau}

A is a G-ab. on 
$$SZ$$
 if:  
- AEA => AEA.  
- A:EA => UA:EA

- 
$$SZEF_{i}$$
:  $SCOTENJEF_{in}$   
 $\{r \leq n\}$ 

It is easy to see that  $\mathcal{F}_{\tau}$  is indeed a  $\sigma$ -algebra. Clearly,  $\Omega \in \mathcal{F}_{\tau}$ , and if  $A \in \mathcal{F}_{\tau}$ , then  $A^{c} \cap \{\tau \leq n\} = (\Omega - A) \cap \{\tau \leq n\} = \{\tau \leq n\} - (A \cap \{\tau \leq n\}) \in \mathcal{F}_{n}, n \in \mathbb{N}.$ Finally, if  $A_{1}, A_{2}, \ldots \in \mathcal{F}_{\tau}$ , then  $(\bigcup_{k=1}^{\infty} A_{k}) \cap \{\tau \leq n\} = \bigcup_{k=1}^{\infty} (A_{k} \cap \{\tau \leq n\}) \in \mathcal{F}_{n}$ for any  $n = 1, 2, \ldots$ 

**Exercise 3.** Show that if  $\tau \equiv k$  for some  $k \in \mathbb{N}$  then  $\mathcal{F}_{\tau} = \mathcal{F}_k$ , so the notation is consistent.

Some simple properties are summarized in the next statement.

## **Lemma 2.** Let $\sigma, \tau$ be stopping times.

(i)  $\tau$  is  $\mathcal{F}_{\tau}$ -measureable. (ii)  $\sigma \wedge \tau = \min(\sigma, \tau)$  and  $\sigma \vee \tau = \max(\sigma, \tau)$  are stopping times. (iii) If  $\sigma \leq \tau$ , then  $\mathcal{F}_{\sigma} \subset \mathcal{F}_{\tau}$ . (iv) If  $(X_n)_n$  is an adapted sequence then  $X_{\tau}$  is  $\mathcal{F}_{\tau}$ -measurable.

**Theorem 4** (Optional stopping theorem, Doob). Let  $(X_n)_n$  be a supermartingale, and  $\sigma \leq \tau$  stopping times such that

$$\mathbf{E}(|X_{\sigma}|) < \infty, \qquad \mathbf{E}(|X_{\tau}|) < \infty \tag{2} \quad \{\texttt{eq:opt-stop-1}\}$$

and

$$\liminf_{n \to \infty} \int_{\{\tau > n\}} |X_n| \, \mathrm{d}\mathbf{P} = 0. \tag{3} \quad \{\texttt{eq:opt-stop-2}\}$$

{thm:opt-stop}

 $\#\pi t \rightarrow$ 

Then  $\mathbf{E}(X_{\tau}|\mathcal{F}_{\sigma}) \leq X_{\sigma}$  almost surely.

Furthermore, if  $(X_n)_n$  is martingale then  $\mathbf{E}(X_{\tau}|\mathcal{F}_{\sigma}) = X_{\sigma}$ .

Clearly, conditions (2) and (3) hold if the stopping times are bounded.

*Proof.* Since  $X_{\sigma}$  is  $\mathcal{F}_{\sigma}$ -measurable,  $X_{\sigma} = \mathbf{E}(X_{\sigma}|\mathcal{F}_{\sigma})$ , therefore it is enough to show that

This is the same as

i) t is F- mean  $G(r) \subseteq I$ T: S→ N= 29,1,2,...] Have do check: {T=k} E F. VkEN  $\{T = k \} \cap \{T \leq n\} \in F_n \quad \forall n \in \mathbb{N}.$ lesn:=pEF\_/ REN: = ST=BJEFBCFN. EX LO If Gisbanded: 543 a.s.  $E X \leq E X_{3}$ [Xn dP = O if n in Conge くてろれる TEJ if n]3 27>n]=\$

First assume that  $\tau$  is bounded, that is  $\tau \leq m$  for some m. For any  $\begin{array}{c} \overbrace{A \cap \{\sigma < k \leq \tau\}} = A \cap \{\sigma \leq k-1\} \cap \{\tau > k-1\} \in \mathcal{F}_{k-1}, \quad k \geq 2, \\ s & \overbrace{f(X_{\tau} - X_{-}) d\mathbf{D}}^{\mathbf{E}} \\ \end{array}$  $A \in \mathcal{F}_{\sigma}$ thus  $\int (X_{\tau} - X_{\sigma}) \,\mathrm{d}\mathbf{P}$  $=\int_{A}\left(\sum_{k=1}^{r}\left(X_{k}-X_{k-1}\right)\right)\mathrm{d}\mathbf{P}$  $= \int_{A} \left( \sum_{k=0}^{m} \mathbf{I}(\sigma < k \le \tau) (X_k - X_{k-1}) \right) \mathrm{d}\mathbf{P}$  $=\sum_{\substack{k=2\\m}}^{m}\int_{A\cap\{\sigma< k\leq\tau\}}(X_{k}-X_{k-1})\,\mathrm{d}\mathbf{P}$   $=\sum_{\substack{k=2\\m}}^{m}\int_{A\cap\{\sigma< k\leq\tau\}}(X_{k}-X_{k-1})\,\mathrm{d}\mathbf{P}$   $=\sum_{\substack{k=2\\m}}^{m}\int_{A\cap\{\sigma< k\leq\tau\}}(X_{k}-X_{k-1})\,\mathrm{d}\mathbf{P}$  $=\sum_{k=2}^{m}\int_{A\cap\{\sigma< k\leq\tau\}} \mathbf{E}(X_{k}-X_{k-1}|\mathcal{F}_{k-1}) d\mathbf{P} \leq 0, \qquad \mathbf{\mathcal{B}} \in \mathbf{F}_{\ell-1}$ proving (4). Consider the general case. For any n we can write

$$\int_{A} (X_{\tau} - X_{\sigma}) d\mathbf{P}$$
  
=  $\int_{A} (X_{\tau \wedge n} - X_{\sigma \wedge n}) d\mathbf{P} + \int_{A} (X_{\tau} - X_{\tau \wedge n}) d\mathbf{P} - \int_{A} (X_{\sigma} - X_{\sigma \wedge n}) d\mathbf{P}$ 

On the event  $\{\sigma \ge n\}$  we have  $X_{\tau \wedge n} = X_n = X_{\sigma \wedge n}$ , therefore

$$\int_{A} (X_{\tau \wedge n} - X_{\sigma \wedge n}) d\mathbf{P} = \int_{A \cap \{\sigma < n\}} (X_{\tau \wedge n} - X_{\sigma \wedge n}) d\mathbf{P} \le 0, \quad n \in \mathbb{N}, \quad (5) \quad \{\text{eq:opt-aux2}\}$$

Angerngef

where the inequality follows from the previous case.  $\boldsymbol{\epsilon}$ 

By condition (3) there exists a sequence  $n_k \to \infty$  such that

$$\lim_{k \to \infty} \int_{\{\tau > n_k\}} |X_{n_k}| \, \mathrm{d}\mathbf{P} = 0.$$

6

lining SIXn/dP=0 NDOS/TINY

It is enough to show that on this subsequence the second and third terms in decomposition (5) tends to 0. For the second term

$$\begin{aligned} \left| \int_{A} (X_{\tau} - X_{\tau \wedge n_{k}}) d\mathbf{P} \right| &= \left| \int_{A \cap \{\tau > n_{k}\}} (X_{\tau} - X_{\tau \wedge n_{k}}) d\mathbf{P} \right| \qquad \overleftarrow{E} \left| \mathbf{X}_{\mathbf{x}} \right| \ \measuredangle & \overleftarrow{\sum} \\ &\leq \int_{A \cap \{\tau > n_{k}\}} (|X_{\tau}| + |X_{n_{k}}|) d\mathbf{P} \\ &\leq \int_{\{\tau > n_{k}\}} |X_{\tau}| \, d\mathbf{P} + \int_{\{\tau > n_{k}\}} |X_{n_{k}}| \, d\mathbf{P}. \end{aligned}$$
Hy, for the third term

6=1

Similar

$$\left| \int_{A} (X_{\sigma} - X_{\sigma \wedge n_{k}}) \mathrm{d}\mathbf{P} \right| = \left| \int_{A \cap \{\sigma > n_{k}\}} (X_{\sigma} - X_{n_{k}}) \mathrm{d}\mathbf{P} \right|$$
$$\leq \int_{\{\sigma > n_{k}\}} |X_{\sigma}| \, \mathrm{d}\mathbf{P} + \int_{\{\tau > n_{k}\}} |X_{n_{k}}| \, \mathrm{d}\mathbf{P}.$$

Using (2) both upper bounds tend to 0.

**Corollary 2.** Assume that  $(X_n)$  is (super-, sub-) martingale,  $\tau$  is a stopping time,  $\mathbf{E}(|X_{\tau}|) < \infty$  and (3) holds. Then

- (i)  $\mathbf{E}(X_{\tau}|\mathcal{F}_1) \leq X_1$  and  $\mathbf{E}(X_{\tau}) \leq \mathbf{E}(X_1)$  for supermartingales;
- (ii)  $\mathbf{E}(X_{\tau}|\mathcal{F}_1) \geq X_1$  and  $\mathbf{E}(X_{\tau}) \geq \mathbf{E}(X_1)$  for submartingales;
- (iii)  $\mathbf{E}(X_{\tau}|\mathcal{F}_1) = X_1$  and  $\mathbf{E}(X_{\tau}) = \mathbf{E}(X_1)$  for martingales.

Some conditions are needed for the optional stopping to hold.

**Example 2** (Simple symmetric random walk). Let  $\xi, \xi_1, \xi_2, \ldots$  are iid random variables with  $\mathbf{P}(\xi = \pm 1) = 1/2$ . Let  $S_0 = 1$  and  $S_n = S_{n-1} + \xi_n$ . Then  $(S_n)$  is martingale. Let  $\tau = \min\{n : S_n = 0\}$ . Then  $\tau$  is a stopping time and the martingale  $(S_{\tau \wedge n})_n$  tends to 0 a.s. The optional stopping does not hold as  $S_{\tau} \equiv 0$  a.s., while  $S_0 = 1$ . Clearly, condition (3) does not hold.

**Theorem 5** (Wald identity). Let  $X, X_1, X_2, \ldots$  be iid random variables with  $\mathbf{E}X = \mu \in \mathbb{R}$ , and let  $\tau$  be a stopping time with  $\mathbf{E}(\tau) < \infty$ . Put  $S_n =$  $X_1 + \cdots + X_n, n \in \mathbb{N}$ . Then  $\mathbf{E}(S_{\tau}) = \mu \mathbf{E}(\tau)$ .

So=1 (Sn) mitz (SnAT) L wel honner Sunt lin unto, convithm. Q.S. V,  $S_{nAT} \rightarrow O$ as. 6-200 しょ -- こん a .s. St= O as. S1 = 1  $0 = ES_T$  $E(C_o) = 1$ 

*Proof.* First assume  $X \ge 0$ . We have

$$\mathbf{E}(S_{\tau}) = \mathbf{E}\left(\sum_{k=1}^{\infty} I_{\{\tau \ge k\}} X_k\right)$$
$$= \sum_{k=1}^{\infty} \mathbf{E}(I_{\{\tau \ge k\}} X_k)$$
$$= \sum_{k=1}^{\infty} \mathbf{E}(I_{\{\tau \ge k\}}) \mathbf{E}(X_k),$$

that is

$$\mu \sum_{k=1}^{\infty} \mathbf{P}\{\tau \ge k\} = \mu \mathbf{E}(\tau).$$

To see the general case consider the decomposition

$$S_{\tau}^{(+)} = \sum_{k=1}^{\infty} X_k^+ \mathbf{I}(\tau \ge k)$$

and

$$S_{\tau}^{(-)} = \sum_{k=1}^{\infty} X_k^{-} \mathbf{I}(\tau \ge k).$$

**Example 3** (Gambler's ruin). Let  $X, X_1, X_2, \ldots$  be iid random variables such that  $\mathbf{P}(X = 1) = p = 1 - \mathbf{P}(X = -1), 0 , and put <math>S_n = X_1 + \cdots + X_n$ ,  $n \in \mathbb{N}$ . Fix  $a, b \in \mathbb{N}$  and let

 $\tau = \tau_{a,b}(p) = \inf\{n : S_n \ge b \text{ or } S_n \le -a\},\$ 

with the convention  $\inf \emptyset = \infty$ . Let  $(\mathcal{F}_n)$  be the natural filtration, i.e.  $\mathcal{F}_n = \sigma(X_1, \ldots, X_n), n \in \mathbb{N}$ .

It is easy to show that  $\mathbf{P}(\tau < \infty) = 1$ , and  $\tau$  is a stopping time. Furthermore,  $|S_{\tau}| \leq \max(a, b)$ , in particular  $\mathbf{E}|S_{\tau}| < \infty$  and

$$\liminf_{n \to \infty} \int_{\{\tau > n\}} |S_n| \, \mathrm{d}\mathbf{P} \le \liminf_{n \to \infty} \max(a, b) \mathbf{P}\{\tau > n\} = 0.$$

First assume that p = 1/2. Then  $\mathbf{E}X = 0$  and  $(S_n)$  is a martingale. Therefore, by the optional stopping theorem

$$0 = \mathbf{E}S_0 = \mathbf{E}S_\tau = -a\mathbf{P}(S_\tau = -a) + b\mathbf{P}(S_\tau = b) = -a(1 - \mathbf{P}(S_\tau = b)) + b\mathbf{P}(S_\tau = b).$$

Thus

$$\mathbf{P}(S_{\tau} = b) = \frac{a}{a+b}$$
 and  $\mathbf{P}(S_{\tau} = -a) = \frac{b}{a+b}$ 

Furthermore, we proved that  $(S_n^2 - n)$  is a martingale, thus

$$0 = \mathbf{E}(S_0^2 - 0) = \mathbf{E}(S_{\tau}^2 - \tau)$$

which implies

$$\mathbf{E}\tau = \mathbf{E}S_{\tau}^{2} = a^{2}\mathbf{P}(S_{\tau} = -a) + b^{2}\mathbf{P}(S_{\tau} = b) = a^{2}\frac{b}{a+b} + b^{2}\frac{a}{a+b} = ab$$

The case  $p \neq 1/2$  is different. Introduce

$$Z_n = s^{S_n} = \prod_{k=1}^n s^{X_k}$$

with s = (1 - p)/p = 1/r. Then  $(Z_n)$  is a martingale and

$$Z_{\tau} = s^{b} \mathbf{I}(S_{n} = b) + s^{-a} \mathbf{I}(S_{n} = -a) \le s^{b} + s^{-a},$$

thus  $\mathbf{E}Z_{\tau} < \infty$  and

$$\liminf_{n \to \infty} \int_{\{\tau > n\}} |Z_n| \, \mathrm{d}\mathbf{P} \le (s^b + s^{-a}) \liminf_{n \to \infty} \mathbf{P}\{\tau > n\} = 0.$$

Again, by the optional sampling theorem

$$s^{-a}\mathbf{P}(S_{\tau} = -a) + s^{b} (1 - \mathbf{P}(S_{\tau} = -a))$$
$$= s^{-a}\mathbf{P}(S_{\tau} = -a) + s^{b}\mathbf{P}(S_{\tau} = b)$$
$$= \mathbf{E}(s^{S_{\tau}}) = \mathbf{E}(Z_{\tau})$$
$$= \mathbf{E}(Z_{1}) = \mathbf{E}(s^{X}) = 1.$$

Rearranging we obtain

$$\mathbf{P}(S_{\tau} = -a) = \frac{1 - s^b}{s^{-a} - s^b} \frac{r^b}{r^b} = \frac{r^b - 1}{r^{a+b} - 1} = \frac{1 - r^b}{1 - r^{a+b}}.$$

**Exercise 4.** Show that  $\tau < \infty$  a.s.